N3yyeHue
MOJIOKa
KaK rnpoodyKkma
numaHus

yyeHuua 5B knacca
Kprokoea EkamepuHa







Llenb _uccrie0o08aHUSI:

u3lyyums pa3siuYHble
npespauwjeHust
MOJIOKa Kak

npoodyKkma numaHusi



Ob6bekm
uccsie0o8aHUs:

MOJIOKO




[Ipedmem
uccsiedo8aHUs:
npeepauwieHust

MOJIOKa Kak
npooykma numaHusi



FTunome3sa uccrsie0oeaHUs:

usyvyasi  pasJiudHbie
npespauleHusi MOJIOKa,

MOJ)XHO.

= onpedesiumb rMPoUeHMHoe
codep)XaHuUe e20 XXUPHOCMuU;

* [10JTy4UMb pPa3siu4dHble
npPooyKmMabl.



Bua
XXUBOTHOIO

KopoBa
Ko3a
OBuLa

KoObina

CoaepxaHue coCTaBHbIX
yacten monoka, %

Xup Oenok

2,8-6,0 2,8-3,6
4,1-4,3 3,6-3,8
6,2-7,2 5,1-5,7
1,8-1,9 2,1-2,2

MWH.
BelLll-
Ba

0,7
0,8
0,9
0,3



MPEBPALLEHNE
MOJIOKA KAK
MPOAYKTA
MATAHUST




MoJsioko
Kopoebe




1 criou —
CJ/IUBKU

2 cJioU —
o0be3XxupeHHoe
MOJIOKO






meopoz2



C/iuB0O4YHOEe MacCJi0o U
rnaxma



MacJi0o moriyieHoe u
CbIBOPOMKa




MacCJi0O CJ/TUBO4YHOE€



OIMNPELENSIEM

COLEPXXAHUE
XUPA

B MOJIOKE



1 JIUTP
MOJIOKA
BECUT
1KT" 30I




cenapamop 6bimosou




CJINBKU TOIMJIEHOE
MACJIO






400 : 100 x 99 = 396 &
JXupa



mMacca 971 MOJIOKa:

9x 1030 =9227 2



% XXupa 6 MOJIOKE:

396 x 100 : 9227 =
4,3%



AckpeHHe
6s1a200apum Bac
3a eHumMaHue!!!




